B VCE & PDF https://lwww.geekcert.com/jn0-212.html
2024 Latest geekcert JNO-212 PDF and VCE dumps Download
: GeekCert.com

JINOQ-21204As

Cloud-Associate (JNCIA-Cloud)

Pass Juniper JNO-212 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/jn0-212.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

Latest INO-212 Dumps | JNO-212 Practice Test | INO-212 Exam Questions 1/3


https://www.geekcert.com/jn0-212.html
https://www.geekcert.com/jn0-212.html
https://www.geekcert.com/jn0-212.html

VCE & PDF https://lwww.geekcert.com/jn0-212.html
2024 Latest geekcert JNO-212 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Which two features does the Junos Telemetry interface (JTI) support? (Choose two).
A. JTI provides real-time telemetry.

B. JTI does not need a collector to store data

C. JTI requires no configuration

D. JTI can stream in multiple data models

Correct Answer: AD

QUESTION 2

Which Juniper product is used to remotely provision the NFX250 platform for Network Functions Virtualization?
A. Contrail Service Orchestration

B. Contrail Security

C. Virtual Route Reflector

D. Junos Space Security Director

Correct Answer: A

QUESTION 3

Which statement is true about the vSRX Series and VMware NSX integration?

A. The NSX Distributed Firewall provides a container based layer of protection.

B. VMware NSX provides advanced Layer 4 through Layer 7 security services.

C. You can add the vSRX virtual firewall as security element in the VMware NSX environment.
D. The NSX Distributed Firewall users application identification.

Correct Answer: C

QUESTION 4
Which two Juniper devices are used as a CSO CPE devices? (Choose two.)
A. SRX

B. NFX
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C. QFX

D. MX

Correct Answer: AB

QUESTION 5

Which statement is correct about alarms in AppFormix?
A. Static alarm are compared against fixed thresholds
B. Alarm thresholds cannot be changed by the user

C. Alarm actions cannot be change by the user

D. Static alarms are compared against historical data

Correct Answer: A
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